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Examples
In a number of countries, education is both compulsory-

required-and universal, available to everyone, at least in
primary school (elementary school)

1




Compulsory= Required
Universal= Available to everyone
Primary= Elementary

Public schools are all both free and egalitarian; all
students are considered equal and learn the same the
same material.

Egalitarian = all students are considered equal and learn
the same the same material

:(A clue in another Sentence damall ClalSll JSa (e Ll
(surrounding words
Lgﬁidm@fmﬁ}d\ S\ DAY dhwdwﬁwﬁﬂu&:ﬁ

Example

A school system in one country is not identical to the
system in any other country. It cannot be
exactly the same because each culture is different
Al algn 8 Al Wilhae (d Le A gn 8 s jaall Uil
Adlia CEEN O oY Lalad 4ds o 6K o)) (S Y
(in the second sentence, you see the meaning of identical
= exactly the same)

(Logic) kil : GG

Examples

The educational system is a mirror that reflects the culture.
4Bl xxrr ) o] yall () oSy andedl] sl
(you probably know the word mirror, so you can guess
that reflects means shows.)
e ) Likaie Ca e () aadaies alaall 361 58 JNA (a5 o] WMIRROR
e sl pSareflect




The rekotal is flying in the sky. The underlined word
logically means
- acamel
- a kind of birds
- a building
- An apple
S Jine 48 yra st (Y1 al sl Al (e 585 ) Galad) JUll a
. Likicrekotal
i Ladie Liahiad ¢ glaudl 8y rekotal J) o daadl aleall U las 134
S alla
e e oyl Uy Lddatad ¢ palad Y Aalaill g el g Jasd) o aadu
ik asbrekotal
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i 4alia¥) lhac) (G el Jaa Dl allall oda 8
The words for example, for instance, such as, and among
them:

Example

Almost four billion people will be living in cities in
developing countries such as India and Nigeria.
Developing Countries : not rich country
JMA (@ (developing country ) 4alS Jixe 48 e 3 5 il JUA)
) il s L) aliaY)

— e e Js (developing country ) 4elSll e ol (pedill skt
Aal J g

Ll Al alas 8 ol aleall 8 LS Glany ani SV any 6 :Lusals
* rlaline 4 e )l 4dS)) Se ina )
Sometimes another word or words in another sentence or
sentence part
has the opposite meaning from a new vocabulary item

Example




In some cities, instead of worsening, urban life is getting
much better
Worsening = much better
Aiaall Blal) ¢ T guad sladV) e Yy el (pany 1 Jgiy (bl JEL) &
Jadl petter 4 leule 5 ¢ WOrse (w53 2l worsening sl

(Definition)—a =il ; Lusla

Lol 7 b sl Waline 48 yea o)yl AalSU iy o 2a a3

) is/are means/mean =3(
) is/are called (ei(

) what this means is = 13 (
) is/are known as — < _=3(
) consist of e ¢sS(

) is/are defined as —=3(

) refer to Y sadi(
) is/are described as=< z <5(

Examples

Example (1) : Someone who explores and studies caves
Is known as a spelunker
a spelunker = someone who explores and studies caves
is Ll 2,545 <5 a spelunker , 4l 48 e 3 5 Gl JE 4
someone Who s Wlixs 3l jall 4aKN) iy a3 i L e s3known as
explores and studies caves.

Example (2): Sales literature means printed matters that
contain information on the goods
Sales literature = printed matters that contain information
on the goods




AalS Laaay C )5 45 S 5 Sales literature 4wlS 48 ey 5 Gl Jud) 4
Mol Lol oy 28 o Lol Lad iaS Lalina smeans

Example(3): The part at the back of the car used for
holding luggage is called the car boot in United Kingdom,
whereas Americans would refer to this as the car’s trunk
car boot= The part at the back of the car used for holding

luggage
ke Lld o,y A48 S5 car boot Al 4é jaa & i : Gl JEd) 3
Lol Ly i Ll e V3gicalled as

(Restatement)aeuall sale) Ll

zna s gl aclua saleY alea 5l 4alS aladiuly CalS o g6 ol (Kadl (e
Sl
rdie el e Ja5 clalS Leld Lgandiing Sale 5 ¢ dasgla e gl afia} )
or
that is to say
in other words
l.e. or that is

Examples

Example (1): downtown shopping area is now a
pedestrian zone-in other words, an area for walkers only
A pedestrian zone = an area for walkers only
G ys438 5 (a pedestrian zone ) , 4xlSll 48 jro 3y i Gilal) JUl 4
ke Laasy
(an area for 4&lua salel & 43l ey 13¢8(in other words )
walkers only ).

Example (2) :The surface of Africa consists mainly of
plateaus, or large flat areas, although these occur at
different levels
plateaus = large flat areas




S A5 0or Lam o545 S 5 plateaus sl 48 . eg}é,\u\ JE) d
large flat areas4élua sale) clacy Ulal aadins

Example (1): People spend hours in gridlock —that is,
traffic so horrible that it simply doesn’t move — when they
commute
Gridlock = traffic so horrible
<54 S (gridlock ) .L;L@_hjgﬂ\ AalSl) 48 a3 bl JEW) A
(traffic SO st 5 e 4elua sale) 3y 43l iy 1368 (that iS ) 3ke Wax
horrible ) .
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Getting meaning from context

M@QJJJ‘\ASQ_\MM\.@JSY\_‘}:& 173&9‘5@““)&\1\&.3)_9
CLidlil ¢ g se 8 LY & sk Lelan | e siil Alind 8 aae o1 & sl




L6 a8y Jlsdl

L . «LS3l s aatheir sagacity |, = 0= coall Gl ¢ alaall das 5
sagacity sz

cdlaa) (o, ikl (£ 4aSal) (. asill aae (§
(sagacity) xe le ol aakaiid ¢ oLSA) agil 4l el JOA (pad
AaSall e 33 sala Ll

L 7 e8) sl A

Oxbas s fatalities palad) o g by (81 aleall das S
O da) 3 Otans (7. bl () ol (!
el fatalities ime <am o) Likaia USay (palias 4aISH 4 g DA (e
LEENE
055 cfan T ¢ U L) a5 3 5 2 Asa¥) ¢ dsmam ) agully alasl

o




S o 132 | e allall S e SR aal g - Al JS (Y3
L a3 S ale Aol

1 29 68, Jlpdl (B

5y salls ax yia Jl )
oSlel GUY) Ga sl Gl (3 s ko ) i (L 0 B (.0 AS) ()
JENENS
cacluasale) dlla (S 4l S that is of (dsY) 5 _walaall b sl
s sbew Ll equivalent Al Jixa agd (Say iy

30) In Britch Columbia, where, since 1990, thirteen rainfor est valleys have
been clearcut. 142 species of salmon have already become extinct.”
what does "clearcut” mean?
A-a few trees have been cut down
B- many trees have been cut down
C-all the trees have been cut down
D- none of the trees have beeen cut down

30 Jlgdl B

Glle (0 Lol 513 ¢ 1990 ple i cbua ol € i 3 A 1 sl das i3
clearcut , JUasY!
Ao jiie Capal G gallall (0 A10ad] 42
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"Logging, however, provides jobs, profits, taxes for the government and cheap
products of all kinds for consumers, so the government is reluctant to restrict or
control it."
what does "reluctant” mean?
A) doesn't want to
B) is not allowed to
C) would like to
D) none is true

: 31 J)gd)
tJ) ) Aax 3
Ao sSall (I il puall 5 2L Y1 ecilla gl a5 ¢ Ja 4l e ¢ lai) olad
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"According to its proponents, four times as much paper can be produced from
land using hemp rather than trees."
what does "proponents"” mean?
A) people who are against something.
b) people who support something
c) people in charge of something
d) none of the above is true

:32 J) gl
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when Sara was sick, her voice was almost inaudible. We couldn't hear what
she was trying to say clearly.

a) very loud, easy to hear.
b) very soft, hard to hear

c) very strange, uncommon
d) very shy, introverted

41 Jipud 8
inaudible ,3SIL IS L ga ¢ duay po 3l CulS Ladie
a4l o) Jalad S e pand ) el ol
Cu ) gL Arand O s s e gl ol (@ dmen G e me e ()
, s Jsad (2l e
A ¢ AN a5 35 A ALl

what does "alternative way" means?

usual way (i
unusual way (=
normal way (z
unsafe way (=
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o))l clzailindl 2685 - Understanding Contrast
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(Main idea):dsmsi )l 5,84l alay) 48y )la] -
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Look for the main idea of this paragraph
The life of a doctor is not easy. Martin works a very long
day, and he is very busy with a variety of activities. He
spends a lot of time with people, but he also spends a lot
of time working onreports in his office

A ¢ algn Cud AN Bla ol e ciaad V) Alealdl ¢ Gl JU) &
o & s sall Lt ) 5 SalE Ml 5 ¢ (35 4 (RS s alee 4 7 a8 il
oY) dlaall
The life of a doctor is not easy.

&iali2- skimming

Skimming is used to quickly identify the main ideas of a
text
A 1 3 )SAl paal o gula gall Ary s ) B JAA e anll
main idea s topic ¢ 34!
Topic :the topic is just a word or noun phrase — a few
words. It is not a sentence
Alea Gl g S iy Aol alea o) S (o ()5S g g gall )
Main idea: The main idea is in a sentence or two and can
be found at the beginning, middle, or end of a paragraph.
Doy 8 1 ankdll Ay 3 0S5 O (Sans Oilen o) e (685 A 511 3 _S4l)

Al ) adaiall

examplel
1Do you have a favorite season? 2Winter, fall, and spring
have many advantages. 3However, summertime is my
favorite season because it offers the tranquility of the
beach as well as the exhilaration of outdoor sports. 4First,




sitting on the other side of a sand dune, hidden by sea
oats and sedge, | like looking at the Atlantic Ocean,
scanning for dolphins and pelicans. 5Looking at
something larger than | am gives me a sense of awe and
gratitude and provides a backdrop for some deep
musings. 6Second, summertime provides me with the
chance to go sailing, surfing, and hiking along the shore.
7The exercise enhances my sense of well being and
creates a feeling of optimism

The topic :summertime
The main idea :summertime is my favorite season
because it offers the tranquility of the beach as well as the
exhilaration of outdoor sports

eall (Al J b Juadl (e Jlusdinly ¢ g gall Ty ¢ Gl adaiall

3Sall (e dhaad & ¢ (Al Aleall) Ay )Y U gl alaxiy &8 5 ¢ (A 5Y)
Jane o 4l 5 ) dlealls summertime . 2 G g s sall 4 )l

).oLiiY1) Ladh & gz gall

example2
Why | Want to Learn English(1) There are three reasons
why | want to learn English. (2) One reason is that English
has become an international language.(3) It is now used
by most international companies, including the company
where | work, for business communication. (4) Another
reason why | want to learn English is so that | can travel to
English-speaking countries. (5) The United States,
England, Australia and many other countries all use
English as their primary language. (6) Finally, | want to
learn English because | plan to move to the U.S. in the
future. (7) 1 will become a manager for my company soon.
(8) For all these reasons, | am very excited about learning
English.

|dentify the topic sentence: Why | Want to Learn English
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1- Agree in number
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If the pronoun takes the place of a singular noun, you
have to use a singular pronoun

JGa

If a student parks a car on campus, he or she has to buy a
parking sticker

g a3 jie he or she 24 Student
)y padid ade Eat il g dclaall jraa aladiu) LiSa Y Eua

Paragraph 1
Every second, 1 hectare of the world's rainforest is
destroyed. That's equivalent to two football fields. An area




the size of New York City is lost every day. In a year, that
adds up to 31 million hectares — more than the land area
of Poland. This alarming rate of destruction has serious
conseqguences for the environment; scientists estimate, for
example, that 137 species of plant, insect or animal
become extinct every day due to logging. In British
Columbia, where, since 1990, thirteen rainforest valleys
have been clearcut, 142 species of salmon have already
become extinct, and the habitats of grizzly bears, wolves
and many other creatures are threatened. Logging,
however, provides jobs, profits, taxes for the government
and cheap products of all kinds for consumers, so the
government is reluctant to restrict or control it.

Paragraph 2
Much of Canada's forestry production goes towards
making pulp and paper. According to the Canadian Pulp

and Paper Association, Canada supplies 34% of the
world's wood pulp and 49% of its newsprint paper. If these

paper products could be produced in some other way,
Canadian forests could be preserved. Recently, a possible
alternative way of producing paper has been suggested by
agriculturalists and environmentalists: a plant called hemp.
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Canada supplies 34% of the world's wood pulp and 49%
of its newsprint paper
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0 4 ke 4l 13 J Dl
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: Every second, 1 hectare of the world's 2 s¥) &eall & Y
rainforest is destroyed
DU 100 J 456 100 4iline ¢ liSa JSIaa 5 40
) less than two minutes | &aY) o3
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lele LU Al Al oS0 ) oY)

a3 yis) pronoun understanding (J) oe JLs 21 <20 <19 ALY
Alaall 3528 (jal 48 yae

¢ 2 ga3 (el ¢ B aall AT V15 8l Jajt < )519)
dleall
Logging, however, provides jobs, profits, taxes for the
government and cheap products of all kinds for
consumers,
so the government is reluctant to restrict or control it
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990 925 (pal ¢ Al 33l 8 jts o, 520)
;Aleall
Canada supplies 34% of the world's wood pulp and 49%
of its newsprint paper
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Understanding Parts of Speech
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Understanding Parts of Speech

(Verb = (V )The action that the subject does ( present,
past or future
Jadll sa
Noun = ( N ) Might be subject or object
ans|
Adjective= ( Adj )Describes nouns
slas¥) Caai ) a5 dduall
Adverb = ( Adv )Describes verbs
Jzdll coai Al A
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Beauty,
beautification

Creation

Crowd

Difference

Difficulty

Efficiency

Pollution,
pollutant

prediction

Safety

solution

e 1) gl

Create

Crowd

differenhate

difficul

i e

Pollute

Predict

Save

Solve

Worsen

Beautiful

Creative

Crowded

Different

Difficult

Efficient

die Ll ol

Predictable

Safe/savalde

Solvable

Beautifully

Creatively

crowdedly

Differently

Difficultly

Efficiently

da bl ol

Predictably

Safely

\JALG-IL)“:‘}

wersely

Example

a. You will succeed if you work hard. (V)
Willae <3l WY succeed Jadll Laadsin) Lia

b. You will achieve the success if you work hard. ( N)
thew il LY success awY! Leadiul L

c. You will get the successful result if you work hard. ( Ad))
Al dda )5St Sl result awY) sa Wax L (S5 the 2y <l L
successfuliiall Leadiul

26




d. You will get the result successfully if you work hard. (
Adv))
J=dll caatn Ly gadyv J) Leassis) La

2SN o) el cilaladind e o el Lia

1. Solve
They are trying to find a solution (n.) to the problem of
overcrowding, but this is a difficult
problem to solve(v.).

2. Pollute
Most people know about air pollution (n) in big cities, but
they're just beginning to learn about the many pollutions (n
) that we have inside buildings.

3. Crowd
There are crowds (n) of people everywhere ; the mass-
transit system is especially crowded (adj ).

4. Save
The city is not safe (adj) because of crime. People can'’t
leave their homes safely (adv) at night, and the police
can’t provide for their safety (n).

5. Beautify
Many people bring plants into their homes because the
plants are beautiful (adj). However, it's possible that these
plants not only beautify (v) the environment but also clean
the air.

6. Differ
The causes of indoor air pollution differ (v) from area to
area. One reason for the difference (n) is that people hear
their homes differently (adv). People in some areas burn



http://www.ckfu.org/vb/t430419-2.html

wood for hear; in other areas, they use something different
(adj).
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suffix J) s prefix J oe be saga a5l

6 sinall (e axdbiall g dcalill 3 paladdba s e sa g

g ¢ owad o AalSl) e il la ja) o) dalSl) J gl cililal oo | Ledy jas
A1)
disagree s+ (dis ) J & canxl W agree s
38 sY () B8 5 e rall s

Jaailly g gun sl (o ASE ) 58
LAl e o)) aodaiess AN a5 prefix Ju 1l #)
Gl sl e () aadais L o 5 SUFfiX JI oo alS ) ) Laasy o

The Prefix

L SUS Juadilly Leie oS5 1

: THE PREFIX UNY.

Un = not
el oail aadid Al bl gas) & un J)
=5 unkind wd\ S sl e yn Dl Ll Causs W calal kind Dl
s e Jadunreal Gl st un b canal W ks real JGs
s e Unhappy Gzl s un W caal Wl aes happy JUe

- THE PREFIX DISL

29




| inall puSe Jaail 4N 4400 LeinamiDis
DN e disable ) el s dis ! i W 2 able Jas
il ¥ lalias disagree xa dis L —anai Wl 385 1 agree Jis

dis s un Ll Ciloaall Cilal) sy Ui

Un Dis
undo discolored
unfinished | distrust
unwell disorder
unload disapprove
unpack displease
unfit dislike
uncover discharge
disobey
disappear
disbelief

disagree

 THE PREFIX REU

re = again
o) =i rewrite eal re b canat Wl iy el write sale Y Jaire
PR

30




4l
repaint, reappraise, reawake

- The prefix DE»)

Al Ca | gal B2 ) ALK e i 4K dGladd Gl W de J
2 away sl Jasl down 4elSll e )5S (Saa
, Miny | depend L~y descend =iy Walias : deduct e
LLsldespair
e o) o ol g Jg 3l Slaa LS

S5ra g o Saadl bada 4l ) e removal Gl 5SSl
o depart ) dsx decamp ) ¢ &8 05 S deice ¢

- "The prefix pre"wla

¥l ol llall o) ISl o) < L ) s JB S5 pre J)
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repaint

defrost pre-adolescent

reappraise

descend prelude

reawake

despair precondition
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depend prehistoric
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de-ice premature
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